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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, 3) and (−4, −1) 2)  through: (0, 2) and (1, −3)

3)  through: (−4, 0) and (1, 5) 4)  through: (−4, −2) and (−3, 5)

5)  through: (5, 4) and (−4, 3) 6)  through: (−4, 2) and (0, −5)

7)  through: (5, −2) and (−4, −3) 8)  through: (−4, 5) and (5, −5)

9)  through: (0, −2) and (−5, 3) 10)  through: (4, −2) and (−4, −4)
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, 3) and (−4, −1)

  

y

 

 = 

    

x

 

 + 3

2)  through: (0, 2) and (1, −3)

  

y

 

 = 

  

−5

  

x

 

 + 2

3)  through: (−4, 0) and (1, 5)

  

y

 

 = 

    

x

 

 + 4

4)  through: (−4, −2) and (−3, 5)

  

y

 

 = 

  

7

  

x

 

 + 26

5)  through: (5, 4) and (−4, 3)

  

y

 

 = 

   

1

9

  

x

 

 + 

 

31

9

6)  through: (−4, 2) and (0, −5)

  

y

 

 = 

   

−
7

4

  

x

 

 − 5

7)  through: (5, −2) and (−4, −3)

  

y

 

 = 

   

1

9

  

x

 

 − 

 

23

9

8)  through: (−4, 5) and (5, −5)

  

y

 

 = 

   

−
10

9

  

x

 

 + 

 

5

9

9)  through: (0, −2) and (−5, 3)

  

y

 

 = 

  

−

  

x

 

 − 2

10)  through: (4, −2) and (−4, −4)

  

y

 

 = 

   

1

4

  

x

 

 − 3
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (−5, −2) and (3, −1) 2)  through: (−5, −1) and (1, −4)

3)  through: (5, 1) and (−5, 3) 4)  through: (−1, 0) and (5, 5)

5)  through: (−2, 2) and (−5, −4) 6)  through: (5, 3) and (4, 5)

7)  through: (2, 2) and (−5, −1) 8)  through: (−3, 5) and (−3, 4)

9)  through: (5, 5) and (4, −5) 10)  through: (5, 1) and (1, 3)
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (−5, −2) and (3, −1)

  

y

 

 = 

   

1

8

  

x

 

 − 

 

11

8

2)  through: (−5, −1) and (1, −4)

  

y

 

 = 

   

−
1

2

  

x

 

 − 

 

7

2

3)  through: (5, 1) and (−5, 3)

  

y

 

 = 

   

−
1

5

  

x

 

 + 2

4)  through: (−1, 0) and (5, 5)

  

y

 

 = 

   

5

6

  

x

 

 + 

 

5

6

5)  through: (−2, 2) and (−5, −4)

  

y

 

 = 

  

2

  

x

 

 + 6

6)  through: (5, 3) and (4, 5)

  

y

 

 = 

  

−2

  

x

 

 + 13

7)  through: (2, 2) and (−5, −1)

  

y

 

 = 

   

3

7

  

x

 

 + 

 

8

7

8)  through: (−3, 5) and (−3, 4)

  

x

 

 = −3

9)  through: (5, 5) and (4, −5)

  

y

 

 = 

  

10

  

x

 

 − 45

10)  through: (5, 1) and (1, 3)

  

y

 

 = 

   

−
1

2

  

x

 

 + 

 

7

2
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, −5) and (4, 3) 2)  through: (−4, 3) and (0, −4)

3)  through: (2, 5) and (0, −4) 4)  through: (0, −3) and (1, −4)

5)  through: (0, −1) and (−2, −1) 6)  through: (4, −1) and (0, −3)

7)  through: (3, −5) and (0, 0) 8)  through: (−5, −2) and (0, −1)

9)  through: (0, 0) and (−1, 1) 10)  through: (0, 1) and (−3, −3)
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, −5) and (4, 3)

  

y

 

 = 

  

2

  

x

 

 − 5

2)  through: (−4, 3) and (0, −4)

  

y

 

 = 

   

−
7

4

  

x

 

 − 4

3)  through: (2, 5) and (0, −4)

  

y

 

 = 

   

9

2

  

x

 

 − 4

4)  through: (0, −3) and (1, −4)

  

y

 

 = 

  

−

  

x

 

 − 3

5)  through: (0, −1) and (−2, −1)

  

y

 

 = −1

6)  through: (4, −1) and (0, −3)

  

y

 

 = 

   

1

2

  

x

 

 − 3

7)  through: (3, −5) and (0, 0)

  

y

 

 = 

  

−
5

3

  

x

 

8)  through: (−5, −2) and (0, −1)

  

y

 

 = 

   

1

5

  

x

 

 − 1

9)  through: (0, 0) and (−1, 1)

  

y

 

 = 

 

−

  

x

 

10)  through: (0, 1) and (−3, −3)

  

y

 

 = 

   

4

3

  

x

 

 + 1
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, 3) and (1, 1) 2)  through: (−1, 4) and (0, 4)

3)  through: (4, 4) and (3, −5) 4)  through: (0, 2) and (5, 5)

5)  through: (2, −1) and (−4, 5) 6)  through: (2, −3) and (3, −5)

7)  through: (2, 5) and (−1, −4) 8)  through: (0, 5) and (3, 3)

9)  through: (5, 5) and (2, −3) 10)  through: (2, 1) and (−5, −3)
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, 3) and (1, 1)

  

y

 

 = 

  

−2

  

x

 

 + 3

2)  through: (−1, 4) and (0, 4)

  

y

 

 = 4

3)  through: (4, 4) and (3, −5)

  

y

 

 = 

  

9

  

x

 

 − 32

4)  through: (0, 2) and (5, 5)

  

y

 

 = 

   

3

5

  

x

 

 + 2

5)  through: (2, −1) and (−4, 5)

  

y

 

 = 

  

−

  

x

 

 + 1

6)  through: (2, −3) and (3, −5)

  

y

 

 = 

  

−2

  

x

 

 + 1

7)  through: (2, 5) and (−1, −4)

  

y

 

 = 

  

3

  

x

 

 − 1

8)  through: (0, 5) and (3, 3)

  

y

 

 = 

   

−
2

3

  

x

 

 + 5

9)  through: (5, 5) and (2, −3)

  

y

 

 = 

   

8

3

  

x

 

 − 

 

25

3

10)  through: (2, 1) and (−5, −3)

  

y

 

 = 

   

4

7

  

x

 

 − 

 

1

7



©B U2W05140b RKDuHt5aN xSuo6fZtHwgaNr6eM uL3LGCw.W X PAalTlR CrYiDg7hrtxs6 KrEeBs4esrivDeLdx.x 8 PMbatdCef dw0ictWhf HIMnmffiunyiwtLek uAYlggoenbzrXat 71k.w Worksheet by Kuta Software LLC

Algebra 1
ID: 5

Name___________________________________

Date________________
©1 E2b09110v jKFuJtzas jSSoEfstRwhavroed ILkLcC9.q A SA8lLlb BrgiUgkhItxsb 8rGe0sJeKrfvteXdD.m

Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (−2, −2) and (2, −5) 2)  through: (5, −1) and (2, 3)

3)  through: (1, −3) and (−3, 1) 4)  through: (1, 5) and (4, 1)

5)  through: (1, 0) and (−3, 3) 6)  through: (−3, 2) and (1, −1)

7)  through: (3, 3) and (1, −5) 8)  through: (0, 2) and (−3, 3)

9)  through: (0, 0) and (−4, 5) 10)  through: (4, 1) and (−1, 4)
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Write the Equation of the Line:Given two points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (−2, −2) and (2, −5)

  

y

 

 = 

   

−
3

4

  

x

 

 − 

 

7

2

2)  through: (5, −1) and (2, 3)

  

y

 

 = 

   

−
4

3

  

x

 

 + 

 

17

3

3)  through: (1, −3) and (−3, 1)

  

y

 

 = 

  

−

  

x

 

 − 2

4)  through: (1, 5) and (4, 1)

  

y

 

 = 

   

−
4

3

  

x

 

 + 

 

19

3

5)  through: (1, 0) and (−3, 3)

  

y

 

 = 

   

−
3

4

  

x

 

 + 

 

3

4

6)  through: (−3, 2) and (1, −1)

  

y

 

 = 

   

−
3

4

  

x

 

 − 

 

1

4

7)  through: (3, 3) and (1, −5)

  

y

 

 = 

  

4

  

x

 

 − 9

8)  through: (0, 2) and (−3, 3)

  

y

 

 = 

   

−
1

3

  

x

 

 + 2

9)  through: (0, 0) and (−4, 5)

  

y

 

 = 

  

−
5

4

  

x

 

10)  through: (4, 1) and (−1, 4)

  

y

 

 = 

   

−
3

5

  

x

 

 + 

 

17

5


